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#include<stdio.h>
#include<string.h>
#include<stdlib.h>
#include<sys/socket.h>
#tinclude<netinet/in.h>

ttinclude<unistd.h>

//Login
void login_fun(int sock_fd)
{
char username[20];
char secret[20];
int login_len=0;
int secret_len=0;
intres =0;
char receive_buf[4096];
char login_buf[40];

memset(username,'\0',20);
memset(secret,'\0',20);
printf("please input your username\n");

scanf("%s",username);



fflush(stdin);
printf("please input your secret\n");
scanf("%s",secret);

fflush(stdin);

memset(login_buf,"\0',40);
sprintf(login_buf,"action:Login\r\nusername:%s\r\nsecret:%s\r\n\r\n",username,secre

t);

login_len = strlen(login_buf);

if(res = write(sock_fd,login_buf,login_len) ==login_len)
{
sleep(1);
memset(receive_buf,"\0',4096);
if(res = read(sock_fd, receive_buf,sizeof(receive_buf))<0)
{
perror("login failed\n");
return;
}
printf("%s\n", receive_buf);
if(NULL !=strstr(receive_buf," Authentication accepted"))
{

printf("login success\n");

int main(void)
{
int client_socket;
struct sockaddr_in client_addr;

char Serverlp[20];

memset(Serverlp,"\0',20);
printf("Please input your server ip address\n");
scanf("%s",Serverlp);

fflush(stdin);



client_socket = socket(AF_INET,SOCK_STREAM,0);
if(client_socket < 0)
{

perror("create socket error\n");

return-1;

client_addr.sin_family = AF_INET;

client_addr.sin_port = htons(5038);

client_addr.sin_addr.s_addr = inet_addr(Serverlp);
//connect

if(connect(client_socket, (struct sockaddr *)&client_addr,sizeof(client_addr))<0)

{
perror("connect error\n");
return -1;
}
else
{
printf("connect to %s success\n",Serverlp);
}

login_fun(client_socket);

return 0;
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void sendsms_fun(int sock_fd)
{

char send_buf[4096];

char span_num(3];

char destination[12];

char message[2048];

int res;

int send_len;

char receive_buf[4096];

memset(send_buf,"\0',4096);
memset(destination,'\0',11);
memset(message,'\0',2048);

memset(span_num,'\0',3);

printf("please input the span you want used\n");
scanf("%s",span_num);

fflush(stdin);

printf("please input the destination num you want send\n");
scanf("%s",destination);

fflush(stdin);

printf("Please input the message you want send\n");
scanf("%s",message);

fflush(stdin);

sprintf(send_buf,"action:Command\r\ncommand:GSM send



sms %s %s %s\r\n\r\n",span_num,destination,message);

send_len = strlen(send_buf);

memset(receive_buf,'\0',4096);
printf("%s\n",send_buf);
if(res = write(sock_fd,send_buf,send_len) ==send_len)
{
sleep(1);
if(res = read(sock_fd,receive_buf,sizeof(receive_buf))<0)
{
perror("send sms error\n");
return;
}
printf("%s\n",receive_buf);
if(NULL != strstr(receive_buf,"Response: Follows"))

{
printf("send SMS success\n");

int main(void)
{
int client_socket;
struct sockaddr_in client_addr;

char Serverlp[20];

memset(Serverlp,'\0',20);

printf("Please input your server ip address\n");
scanf("%s",Serverlp);

fflush(stdin);

client_socket = socket(AF_INET,SOCK_STREAM,0);
if(client_socket < 0)

{

perror("create socket error\n");

return -1;



client_addrsin_family = AF_INET;
client_addrsin_port = htons(5038);

client_addrsin_addrs_addr = inet_addr(Serverlp);

if(connect(client_socket,(struct sockaddr *)&client_addr,sizeof(client_addr))<0)
{

perror("connect error\n");

return -1;

}

else

{
printf("connect to %s success\n",Serverlp);
}
//login
login_fun(client_socket);
//send SMS
sendsms_fun(client_socket);

return O;

Now use the program receive SMS.
This program base on our first program.

Compile command: gcc send_sms.c —o send_sms

void readsms_fun(int sock_fd)

{

struct Message

{
char sender_num[12];
char span[3];
char message_buf[4096];
char receive_time[30];

2

char receive_buf[4096];

char *receive_AppData = NULL;
struct Message SMS_buf;

int res;

inti=0;



char *temp = NULL;
char temp_buf[1024];

while(1)

{

sleep(1);

memset(receive_buf,'\0',4096);
memset(SMS_buf.sender_num,'\0',12);
memset(SMS_buf.span,"\0',3);
memset(SMS_buf.message_buf,'\0',4096);
memset(SMS_buf.receive_time,'\0',30);
memset(temp_buf,'\0',1024);

if(res = read(sock_fd,receive_buf,sizeof(receive_buf))<0)
{
perror("read failed\n");

}

else

{
if((receive_AppData = strstr(receive_buf,"AppData"))!=NULL)

{
printf("%s\n",receive_AppData);
strcpy(temp_buf,receive_AppData);
}
if((temp=strstr(temp_buf,"process_sms"))!=NULL)
{
for(i = 0;i<13;i++)
{
temp++;
}
strncpy(SMS_buf.span,temp,1);
for(i=0;i<7;i++)
{
temp++;
}
strncpy(SMS_buf.sender_num,temp,11);
for(i =0;i<14;i++)
{



temp++;
}
strncpy(SMS_buf.receive_time,temp,19);
for(i = 0;i<22;i++)
{
temp++;

}
strcpy(SMS_buf.message_buf,temp);

printf("span = %s\n",SMS_buf.span);
printf("num=%s\n",SMS_buf.sender_num);
printf("time = %s\n",SMS_buf.receive_time);
printf("message = %s\n",SMS_buf.message_buf);

}
//printf("span = %s\n",SMS_buf.span);

int main(void)

{

int client_socket;
struct sockaddr_in client_addr;

char Serverlp[20];

memset(Serverlp,'\0',20);
printf("Please input your server ip address\n");
scanf("%s",Serverlp);
fflush(stdin);
client_socket = socket(AF_INET,SOCK_STREAM,0);
if(client_socket < 0)
{
perror("create socket error\n");
return -1;
}
client_addrsin_family = AF_INET;
client_addrsin_port = htons(5038);

client_addrsin_addrs_addr = inet_addr(Serverlp);



if(connect(client_socket,(struct sockaddr *)&client_addr,sizeof(client_addr))<0)

{

perror("connect error\n");

return -1;
}
else
{
printf("connect to %s success\n",Serverlp);
}

login_fun(client_socket);
//sendsms_fun(client_socket);
readsms_fun(client_socket);

return O;

}



